22/01/21 - Spicy

LO: To find percentages of amounts.

8% 10% 16%

150

8m
350

éa. Find 45% of the following amounts.

A.340 B.ém20cm C.120 D.280

7a. Use <, > or = to complete the
comparison statement.

A. 55% of £80 40% of £60

B. 65% of £120 85% of £60

8a. Which card shows the highest
amount? Which shows the lowest?

A.
25% 26% 24%

of of of
180 150 250

4b. Raffy says,

To find 5% of an amount,
you divide the number by
10 and then divide it by 5.

Is Raffy correct? Prove it.

éa. Find a path to the gem by moving
horizontally and vertically through the
correct answers.

start 20% of 2m 20% of 30% of
=40cm | 240=48 | 180 =45
19% of Im| 86% of 62% of 50 25% of
=28cm 120 =100 = 31 140 =50
30%of80 | 10%of | 95%of | &
=32 130=13 | 140=133

Tesco have a 25/ sale on all tinned items: how much would you pay for this
tin of beans if it was £1.50 before the price drop?

started at £264?

Oh no! The laptop that you have been saving up all of your pocket
money for has increased in price by 17.57! If used to cost £400. How

much does it cost now?

All watches on Amazon have decreased by 12/ How much would it be now if it




